CS 104 - Lab 1
Objectives:
Break a basic problem down into inputs, process and outputs.

Answer the following questions for the problems listed below.  You do *NOT* need to answer the actual problems themselves.:

1. What are the inputs? 

· What format are they in? (e.g., integer, floating-point, character, or string) 

· Any valid or invalid values? (e.g. positive, negative, valid range, certain values)

· How do you get them? (e.g., prompt user or read from file) 

2. How do you get from inputs to the outputs you want (process)? 

· What are the calculation steps? 

· To follow these steps, what else do you need? 

· Other variables, constants, conversion? (besides input and output variables) 

· Libraries (e.g., for calculations). 

3. What are the outputs? 

· What format are they in? 

· How do you output them? (e.g., on screen or to a file) 
Problems:

A. An outdoor mall is installing raised flower beds and needs to know how many cubic yards of soil to order to fill the flower beds. Each bed is a rectangular box measured in inches (length by width by depth) and there are "count" number of beds. Calculate the total amount of soil to order. 

B. A rectangle gravel driveway, with a given width in feet, needs to be sloped from the center to both side edges. The recommended slope is between 2.5% to 11% of half the driveway width. Calculate the range of the drop in height in inches between the center of the driveway and the edge of the driveway.

C. If an ice cream cone is 6 inches tall, and its rim has a diameter of 2 inches, determine the weight of the ice cream that can fit in the cone, assuming that the ice cream above the cone is a perfect hemisphere. You may neglect the thickness of the cone material. Assume that a gallon of ice cream weighs 8 lb and occupies 7.5 cubic feet.

D. The 2013-2014 winter in Chicago was the 3rd snowiest on record. You can access daily weather statistics such as snowfall online (Jan 2014 for example, scroll down for daily snowfall in inches). http://www.wunderground.com/history/airport/KORD/2014/1/28/MonthlyHistory.html Assume you download to a single file the daily snowfall in inches for the 2013-2014 winter in Chicago.

Ten inches of snow is approximately equivalent to 1 inch of rain. Ten inches of powdery snow can be equivalent to approximately .7 inches of rain. Ten inches of wet heavy snow can make around 1.3 inches of rain. 

Calculate the three estimates for the equivalent amount of rain in inches Chicago would have had that winter if the snow had been rain instead.

